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The ﬁgures in the margin mdtcate full marks
- for the questzons

1. wﬁam%mm/@ﬁmm%ﬁw
1x8=8
Answer the followmg/ Choose the correct
answer :

(a) SAET Rerl gomfie 741 B IR v?cm
9|
Mention two factors affecting economic
growth.

(b) THFI FREFIT ©G'CH! (FA WIRGRRA 2

Who propounded the ‘theory of circular
causation’
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(c) =AM PRI 4RICE T I X9 TS
S ? .
Concept of disguised unemployment is
applicable to

i) CAIs-
i service sector
i (i) =& e
energy sector
(i) SO qa
manufacturing sector
fiv) $Rs
agriculture sector
(d) “a¥ o1 T WR R [/ ? @ |

SRECB SSRGIRREA

“A country is poor because it is poor.”
The statement was given by

H @R a
. J. B. Say .
(i) R TR
R. Nurkse .
(i) ¥
-Rostow
(iv) AR
Malthus
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(e) T8 wro Rerm JRFR o3 @17
According to Rostow, the growth process
passes through

i 3%

3 stages
(i) 7%

7 stages
(i) sH

5 étages

{iv) S°RT Br8 T
None of the above

(N I TR T (I D1 {5 TS 5% 2
‘Human Development Index’ is a
composite index of which three

indicators?
(i) SREFER A, LTI AHIOR T
T 2 SR GDP

Life expectancy, adult literacy rate
and real GDP per capita

(i) FEIER AGP, ATFIOR T AE TR
w .

Life . expectancy, percentage of
literacy and per capita income
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(i) SERER gepn, PfFes S W@
HOR S

Life expectancy, literacy rate and
national income

(i) SR SR
All of the above

(g) Ter Rerr e fiat |
Define the concept of balanced growth.

(h) TR O 93 SHES (R INA SR
e = ?

Which of the following is not a necessary

characteristic of an underdeveloped
country?

() el
Low per capita income
) PR
Low rate of saving
(ifi) TPRIE TH TN
High density of population
(iv) S P
: Chronic unemployment
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. GR-cRR SRR %Y R fr (2R seo

fwe) 4x4=16 |
Write short notes on any jfour (vmthm 150 |
words each) :

(a) FTSI SF S Rerr Tom acen
Differences between balanced and
unbalanced growth ,

(b) RART TS AT PR

Role of planning in  economic
development

(c) R T W ALAT T

Environmental degradation and
economic development

(d) N o RS 19T e ABTRE

" Interrelationship between primary and
secondary sector

(e) T T P
Human Development Index

() Vg AR

Brain drain
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o 2PRRR Sag forar (af1 ¢oo R fouwe)

Answer the following questions (within 500 words
each) :

3. (o) SROW WY TRE TR TS W
Trmeiter oo T AP e 12
Explain the basic characteristics of a

developing country with suitable
examples from Indian economy.

o[/ Or
(b) s Twe A fam | qRAfee Sawe
TR I 4 | 2+10=12

Define economic development. Analyse
the obstacles to economic development.

4. (o) ST TR TR ARPS WG W
90| 11

Explain the classical model of economic
development.

o3/ Or

(b) B2 TRCEAT WRAST RFPR GIIH! 3
0

Describe the stages of economic growth
as put forward by Rostow.
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5. (a) TEEE CrR AW FERYTOR 24M FRIRR

(®)

6. (@)

(b)

& 7 @& AF0 AN II @HEA o[
SR | 6+5=11
What are the main causes of rural
unemployment in developing countries?
Suggest some measures to solve the
problem.

%91/ Or

woTe fRIARA 87 BT CBrt fordl

Write short notes on the following :

(i) SR 3 T IR T 6
Population growth and quality of
life

(i) D SE STl 5
Health and productivity

ool @4 SfAeT e $RY SRR

91| 11
Explain the role of agriculture in
economic development of a country.

'WW/ Or

S 40 B 9W (PR SRTRD Sme i
SO 49T T FoE AN FqM 1 249=1]
What is tertiary sector? Discuss the

contribution of tertiary sector in
economic development of a country.
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7. (@) e fAERR Rem Ra@ SweRE o[
QAT TS AL SR UM A 44440

(i) TEE oo

(i) wwe! S S/ CIET G

(i) SNl (IET P

Explain the role of State in economi-

development of developing countrie-
with special reference to—

(i) capital formation;

(ii removal of poverty and incom-
inequality; '

(iii) reduction of regional disparities.
<1/ Or
(b) TR A0S AT SR Jo0ET 47 |

Evaluate the role of planning in marke:
economy.

*ni*
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